1. 200m77A4 LT HALNTATIV (9:00~)
[%57] Result
NEQE | o EOF 4 i XA I TR (km/h)
1 | 16 |JE &/vh~ 4 & HEK 10F098 65. 57km/h
2 | 12 JRHE  FEHh/rh MY H AR 117500 65. 45km/h
3 | 14 WA SEIE/FRED 2k 11744 62. 94km/h
4 1 (B B/ TN phTx B[] P 3 AR 11fb47 62. 77km/h
5 | 11 VhHE /28 ve ank B R R 117558 62. 18km/h
6 | 5 |MiH &A/ATE 2t 7 H AR 11768 61. 64km/h
T 13 | [ERE/=)Y Javk H AR 127000 60. 00km/h
8 | 4 | kB uaf/97) ~th F (t) Bl L —s > 7 12701 59. 95km/h
9 | 9 W BEH/=vre AUV 127509 59. 55km/h
10 | 2 |ZH HER/SF 2t R AREERS 1211 59. 45km/h
11 | 3 [ /78N it B AR RS 12721 58. 97km/h
12 | 16 |[FHmE  EE/MP ) = HER 127034 58. 35km/h
13 | 10 [JRHE BEIR/»78 Vapy” PR R RS 127047 57. T4km/h
14 A Bk /AVET vk i HER 127950 57. 60km/h
15 | 8 [EH A/ v AR ERT 125559 57. 19km/h
16 | 17 A EwikBA/b740 V/hey i HER 127485 56. 03km/h
17 | 7[R EEE/VTY 3 PR R RS 137502 55. 30km/h
18 | 18 |fEfk #EA /¥y V% B T m e 137553 53. 22km/h
19 | 19 |758E  F/HAM hrw B LEmRL 145472 48. 91km/h
[ 4+] Result

L |- B OF 4 i B A I TR (km/h)
1 | 20 [fIEp FEFL/7AT H)v Pt L — o s 138087 51.91km/h
2 |21 ke BRI = 7Y 145570 48. 98km/h
3 |24 |lhE  EBELY/A-E a7 = H &R 147076 48. 78km/h
4 | 22 | RAMR /K )R 157530 47. 06km/h
DNS | 23 |EJI &L/ B0 740




2. 400m&Z A LRTALT IV Kesult (9:25~)
(4]
S| 2 B’TF4 B A L JEAL
1| 30 [A4iRF e /<U4 % ay U AL B Rk 36FHT3 2
2 | 31 |/k® &/ A= annf 368503 1
[BFr—FL—9—]
- RFL A A JIEA
3| 25 JEE BH/VAAT M 347578 1
4| 26 | K#& BTN/ Ty <y 358052 2
5| 27 R —H#/nAT Y ARk 365097 3
7| 28 [IKAIIT/VIRT IRy 40FH84 4
[Zefr—FL—9—]
FeRNE| E’T4 A A JEASE.
8 |29 &1 JnfE/hxa Meh 41%025 1
3. 500mZALMTATIV
[&F D] Result
NERL | o> BTFA 2 A N P4EE (km/h)
1 | 20 Bjss HEBL/ 7~ m)y Pl L — > 417526 43. 63km/h
2 | 21 KRB RN = T 425579 42. 07km/h
3 | 22 [ RAPR AE/HIE )3 44FH89 40. 10km/h
4 | 24 [[uHE BRI/ a7 477599 37. 51km/h

DNS | 23 | =)l H&AE/ <00 70




4. 1kmZALKNTATIV (10:05~)
5] Result
JERL |2y EFEH Fr & B A I PHHEE (km/h)
1 | 12 JaHE &t/ i by H AR 15307R679 53. 11km/h
2 |16 L &/vhFN A HHER 14508%)34 52. 68km/h
3 | 14 EA  SEIE/fXEh a2k 143095580 51. 58km/h
4 |11 /hHEE EBA/2p v ank BN AEHRERTY | 1471042 51. 12km/h
5 5 |l ARAE/ATE 2yt R 15710778 50. 86km/h
6 | 4 | BB W/79) ~vh F(OBBEIL—v 27 | 143 11RD67 50. 23km/h
7 LBl BB/ TR £ [ e 2 AR 157137502 49. 30km/h
8 | 3 | U/ Y FRREHEERY | 10138041 49. 04km/h
9 9 |PE FEH/=Ve AU 143135056 48. 94km/h
10 | 2 |ZH HER/FF 2t FRERHRERT | 157148016 48. 54km/h
11 | 16 |[FHE FE/ME ) 7 HER 15715058 47. 63km/h
12 | 17 |AFRd SwIkBA/ L7400 U hny HHEK 145157065 47. 59km/h
13 B FR/AA AN REHRFERY | 15715898 47. 38km/h
14 | 6 [ FAH /v vk EHHEK 145165047 47. 08km/h
15 | 13 | =% PFEmE/=)3Y Jank H A K 14518%578 45. 70km/h
16 | 7 | /Y7 a9 FHRERHRERT | 15521807 44. 41km/h
17 | 10 [JRHE  #EIB/»78 Jany” BN REHRFERY | 157238563 43. 10km/h
18 | 19 |75fE  F/H N Ao Brige T2 155257014 42. 28km/h
19 | 18 [#kfE A /fhy V% P T ¥ ER 143255569 42. 01km/h
[h52E] Kesult
JIENE |27 ETA i XA L SEAHEE (km/h)
1| 31 Ry &R/ h= agf 145295519 40. 36km/h
2 | 30 KA /0T 3y va—ALHEVEIE | 14318092 39. 16km/h
[BT7o—FL—4—] Result
JERL 27> BFEH B & B A L PR (km/h)
L] 27 R —#8/nA ) ax % 14328551 40. 67km/h
2 | 25 R OBA/VAAT M 14528%057 40. 65km/h
3 | 26 | K& IEFR/ TNy Y 143298559 40. 18km/h
4 | 28 EK  AUT/VIART IRy 14342F052 35. 12km/h
[&T7o—FL—4—] Result
NERL |- EFA it & H A L PAEE (km/h)
1 |29 |&F JfE/ta beh 14540%)88 35. 69km/h




5. B+ 74V T=&E (11:00~)
(HEE1X200mFTT DAL THE)

BAL & b INL~SNLIT R~
[ 15%] Result

Vol e o )& JIEAE A I
16 | & /75N A & HEK 1 117537
13 | =/ BERHE/=)3 ) an% A AR 2
9 |FEL EEHL/=VYe 4T 5
8 [JEFH FH/HA HyN B BB ER T 3
17 [FFRE EwIKEA/ATAN U hey & H S 4
19 |FEwE FH/HANY v Brige T EE 6
[21]

Vol A o )@ JIEAE A I
LT BB/ T T[] P 2 i AR 1 1210
11 VhEE A/ e ank B RRHRER T 2
15 |[FHE FE/ME ) & H S 3
10 |JRH  FEIR/TE Vany” B BB R T 4
(RN ZA A VOVAR VA B RBHRER T 5
18 |\Vejk A/ A% Brid TR 6

6. ¥ 74V Wi (11:10~)

Result

rag e g )& JERE XA L
20 |[fEs AEBL/TAT h)v Pty —s o7 1 147520
21 (KRB BE/IN = 7Y 3
24 |IUE  BRL/YE 27 & H S 2
22 | KRR ME/HIE ))73 4
23 BN #EE/ B0 TYh DNS




7. 27V M1,/ 4 BB

Result (11:30~)
BALE B 1AL L 2 R~ CE 13 5 i~ 8 i Bk~
| ®T4 ERVEA A A L A
| 16 | Ea/UhAT A = HER 12%030 1
17 [KF[E EwIKBER/ L7400 /by &= H &R 2
) 12 B i/ nyl MY HARKS: 117084 1
10 [JRH  HEIR/~78 Vany” P REEHEEKRT 2
; 11 [/hNHE  {BA/38 v~ an% PR A B E KT LIFDT7 1
15 [FHHE B/ MY & H &R 2
. 13 | =8 PERH/=)3Y Va¥ H AR K 2
9 WL FEH/=V 4T 145043 1
8. ®A VKL —2 BB (1 2kn) (11 :45~)
BArrEg| 1] 203456
1% 5 431|152 2
2% 344214144
3% 24541313511
4% 148213121415 BBXAL
Result 5 # 6 5152 3|6 164350000
. - 123|456 |6[A|%H &|IA
LA o 25120115/ 10| 5 | G|l | & | A | {2
1Bl EXEH/TAT g 5[] P 3 AR 5153|114 18] 3| 3
2 |2 HER/PE 2t FaAREE R 1] 3] 1 5110 200 1 | 1
3 MR JGE/TIIN T FREEEREl 5 | 1| 2 | 2 10| 6 | 5
4 | FBORSE/97) AYh FlOB#L—>71 3 1 2 1 3| 1] 3] 6 181 2 2
5 | KA/ AFE At = HER 2 51212 11 4| 4
6 |G BEf/AvE HH @R -11-20| 5| 6

NO. 1 Ff#B& T O RARMERAETIZ LA ETEMICH LE S 5 2 5,




9. B+ 4V B (13:00~)
Result

vy ®T4 g B JIEAE A I

16 | &/ A & HER 1 11049

1 |FE8 EER /TN b 5[] P 3 AR 4

13 | =& FERE/=)3Y Jank HA K 3

11 /hNEE BA/28 v ank AR EFERT 2

8 |WEFH  F/MA v AR REFERT 6

15 [Pl R/ ) 7 HER 5

10. B 2R77vF BB (13:25~)
(6km) Result

Loy ® P A4 SIE: AN | JEE | ERE | Z A A

3 |EE RV TR FHEREERT | 1 1

4 | BB wm=E/m9) ~rh FOOBBILL—> 27| 2 2

1 (RS BTN ATk o ] P 2 i 3 3

2 |ZH HER/AS 2t FHEEEERY| 4 4

5 (Wi &A=/ antd = H E R 5 5

6 |BH Bkl AvE vk &= H & 6 6

TS/ VTTY g FRREHRERY | 7 7

8 |EH  FH/ANA Whv FBREHRERS | — DNF

Rl b 1ALIFIRPE~, B I 3L - 4 ALk e g~

o T4 At )& A A I EE

. 16 |JEL  Ha/04A A HHER LIRPT1 1
9 |\PEIL FEHL/=vv pUY 2

. 12 J6H  F/~yh by H AR K 11875 1
11 /NEE A /2 e ank Brig AR R R 2




12. B+ 7Y}

JEAZ IR EE (1 [EE) OO

(2 EER) @B
( 3 [E1Hk)
CE Result
@ [ 57~ 8 ik i)
" T4 Gl A A I EIE | HE
17 [FFRE SwIKEA/A74D Vvpmy SR 3 L
10 W BEWS/ I8 Vany” ey SN 4 A
15 | FHmE R/ ) = H AR 117558 1 5L
13 | =% F&EE/=)3Y Vank HA KRS 2 6/
O@ [ 37« 4frREF]
BT il 1[0k | 20k | 3mlEk | EIE | fHE
9 |WEIL FEHL/=ve 4oy AhT
11 |/NEE /20 v a0 [EEskeHeEReE | 1189 | 11R673 3L
@B [& )
BT il 1[Eg | 2 | 3EEk | SIE | e
16 | &/ aFA A wHHER 2L
12 |[Y&H Zad/nyd by AR 117058 | 11532 147
BY F—Lh - XFY b
Result
_ 18 * - i
FBiElE|  F— 24 s i 72 AL $% [NENL
8 W A/ W
{ *ﬁff%f‘éijf S D me ma e a0 155237506 | 3
2 |ZH HER/A ant
6 |AH Bk AVE vk
2 & H &R 5 | I&E/ArE antd 14537217048 [ 2
16 |1 /U5
12 Y&l Znd/~wg by
3 PrRREE | 14 AR FEIE/J3Eh 2k F18FT2| 1
13 | =8 FERH/=)3% Vav




FA DT ATIVEFER

[HA > s OEHIZ2OWT]

FADRFATNVEDWTH, 1fL: 104K, 2fL: 84, BfL: TR~ - -

L LTARMBR CIEL 2 RET 5, FAADHEL, 1mTT (500m) HA > b Btz birL 35,

- 8fL: 2, 9fL-10fL: 1R

125 I $ALNTA

. _ 200m774 )" BANNTAT Lkmp AL MTAT . .
Cons ® T 4 R T O TR oy TTH A/ NEAL
1 |Brss /7N T T[] P 3 AR 1 6 7 3 9 6
2 |ZH  HER/HE gt HEREHEEREl 10 1 10 1 2 11
3 |EE R/ VN T mEaRHEERE 11 2 2 9
4 | F8 wE=Sk/my) At F () Bl L —s 7 4 6 7
5 M A&E/ArE 2t HHER 5 9 5
6 A /A vk 2 H S 14 14 0 12
(S R VAR UL BB EERE 17 16 0 12
8 |JBEH  F/hA Wy BB ARHEERS 15 13 0 12
9 | FEMHL/=vA7 VY 9 1 9 1 2 10
10 |JRHE  FEIG/ 78 Vapy B ARHRERS 13 17 0 12
11 /hNHE  §E&/28 ve ag R REH SR 5 4 6 11 4
12 J5H Fn/noh by H AR 8 10 18 1
13 |/ 8 [FEmE/=)3 )% A AR 3 15 3 8
14 A =EIE/f%Eh 2%y 7 3 7 14 3
15 |[F3HmE  FE/My ) & H 12 11 0 12
16 [P0 & /04N HHER 1 10 2 8 18 2
17 |FH0E ERIKEA/A740 V/hey | EEER 16 12 0 12
18 |k A /Fhy AV% Brig TR 18 19 0 12
19 [Z5HE  F/HM v B LEER 19 18 12
Lt A7) JAhNIA BALNT A

. . 200m774/ )" BANNTAT v 500mA{ L 7AT v ., .
o T A R RN R
20 |Frfs  FERL/TAT A Pl L — 07 1 10 1 10 20 1
21 KRB\ A/ IR = T 2 2 16 2
22 | KRR WE/ATIE )3 4 3 13 3
23 |EN HELE/ BN TN DNS DNS
24 [ILH  ZRL/Y7P a7 = HER 3 7 4 6 13 4
[Fre—Fr—4—]

R 400mA{ b NIAT 1km# A ANIAT IV X i
w T R e : gm 1@&4 ; o s
25 [ B/7IA A 1 10 2 8 18 1
26 | K& IEFR/ Ty oY 2 3 7 15 3
27 MR —8t/~A ) A% 3 1 10 17 2
28 1A B /VIRT J9Ry 4 4 6 12 4
[Zro—FL—3—]

) _ 400mA {5 NFAT W Tkm# A hNFAT W . "
. ' F 4 B R [T N e T
29 |47 FnfE/ra b 1 10 1 10 20 1
[74:]

. B 400mp{ 5 NFAT W Tkm# {5 NFAT W . N
B F 4 e RN R
30 [FAIRE S/ % day Y A B YO R 2 8 2 8 16 2
31 R &S/ IN f= an 1 10 1 10 20 1




